                         Správné řešení

             ŽIVOČICHOVÉ – 3. ročník
	   1.
	 datel černý

	   2.
	 chroust obecný

	   3. 
	 zmije obecná

	   4. 
	 mandelinka bramborová

	   5. 
	 štika obecná

	   6.
	 ještěrka obecná

	   7.
	 vrabec domácí

	   8.
	 skokan zelený

	   9.
	 myš domácí

	 10.
	 kapr obecný

	 11.
	 vlaštovka obecná

	 12.
	 mlok skvrnitý


BONUS : 

	   1.
	 lasice hranostaj

	   2.
	 babočka kopřivová 

	   3. 
	 sova pálená

	   4.
	 škeble rybničná / říční


MINERÁLY :

	   1.
	 vápenec

	   2.
	 křemen

	   3. 
	 pískovec

	   4.
	 žula


BONUS : 

	   1.
	 magnetit / magnetovec

	   2.
	 hnědé uhlí


                      Správné řešení

        ŽIVOČICHOVÉ – 4. a 5. ročník
	   1.
	 hýl obecný

	   2.
	 čolek obecný

	   3. 
	 včela medonosná

	   4. 
	 lín obecný

	   5. 
	 ledňáček říční

	   6.
	 čmelák skalní

	   7.
	 rosnička zelená

	   8.
	 užovka obojková

	   9.
	 koroptev polní

	 10.
	 netopýr velký

	 11.
	 kuna skalní / lesní

	 12.
	 jiřička obecná

	 13.
	 okoun říční

	 14.
	 rak říční / kamenáč

	 15.
	 kalous ušatý


BONUS : 

	   1.
	 ondatra pižmová

	   2.
	 krahujec obecný

	   3. 
	 babočka admirál

	   4.
	 ruměnice pospolná


MINERÁLY :

	   1.
	 pískovec

	   2.
	 rula

	   3. 
	 živec

	   4.
	 vápenec


BONUS : 

	   1.
	 grafit / tuha

	   2.
	 slepenec


